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0.3183 10KHz 1V peak
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Chi

S00mv

M 100us

A Chl F 10.0mVv

0.2D 0.3183D 0.35D 0.4D 0.45D 0.5D
1 (mv) 688 520 736 776 836 864 880
3 (mV) 0 276 40 52 176 260 292
5 (mV) 0 0 168 124 0 128 176
7 (mV) 0 120 84 124 76 60 128
9 (mV) 0 56 a4 48 96 20 100
11 (mV) 0 52 84 36 80 12 84
13 (mV) 0 64 32 68 a4 32 68
15 (mV) 0 0 40 44 0 40 60
17 (mV) 0 52 52 8 32 48 52
19 (mV) 0 28 8 44 48 48 48
21 (mvV) 0 28 36 40 44 44 44
23 (mvV) 0 36 36 12 28 36 40
THD(3) 0 53.08% 5.43% 6.7% 21.05% 30.09% 33.18%
THD(5) 0 53.08% 23.46% 17.33% 21.05% 33.54% 38.74%
THD(7) 0 57.88% 26.09% 23.57% 22.93% 34.25% 41.38%
THD(9) 0 58.88% 26.77% 24.37% 25.65% 34.33% 42.92%
Vpk 1 1 1 1 1 1 1
Vrms 0.684 0.614 0.774 0.812 0.866 0.918 0.967
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